САМОСТОЯТЕЛЬНАЯ  РАБОТА  «НАХОЖДЕНИЕ  ЧИСЛА  ПО  ДРОБИ – 2».

	В а р и а н т 1.                                             С – 36
Найдите  число:

     а)  

     б)  

     в)  

     г)  
	В а р и а н т  2.                                        С – 36.
Найдите  число:

     а)    которого  равны  66;

     б)    которого  равны  4,5;
     в)  0,9  которого  равны  216;

     г)  которого  равны  8,4.  

	В а р и а н т  3.                                          С – 36.
Найдите  число:

     а)    которого  равны  42;

     б)    которого  равны  1,8;
     в)  0,8  которого  равны  184;

     г)    которого  равны  3,6.
	В а р и а н т  4.                                        С – 36.
Найдите  число:

     а)    которого  равны  12;

     б)    которого  равны  0,88;
     в)  0,7  которого  равны  112;

     г)    которого  равны  4,5.
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